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SS-42-Biology 
 

 

Roll No.  

      
  

SENIOR SECONDARY EXAMINATION, 2023 

BIOLOGY 
 

Time allowed : 3 hr, 15 Min.                  Maximum Marks : 56 
 

 

GENERAL INSTRUCTIONS TO THE EXAMINEES: 

 

1)  Candidate must write first his / her Roll No. on the question paper  compulsorily. 

 

2)  All the questions are compulsory. 

 

3)  Write the answer to each question in the given answer-book only. 

 

4)  For questions having more than one part, the answers to those parts are to be written together in 

continuity. 

 

5)  If there is any error / difference / contradiction in the Hindi & English versions of the question  paper, the 

question of Hindi version should be treated valid. 

 

6) Write down the serial number of the question before attempting it. 

 
 

   

mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx


RBSE XII Examination - 2023  | 01-04-2023 
 

 

Resonance Eduventures Ltd. 

Reg. Office & Corp. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)  -  324005 
Ph. No.: +91-744-2777777, 2777700 | FAX No. : +91-022-39167222 

To Know more :  sms RESO at 56677 | Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in | CIN : U80302RJ2007PLC024029 
 

This solution was download from Resonance RBSE 2022 Solution portal  
 
 

PAGE # 2 

7340010333 

SECTION A 
 

 Answer the following questions by selecting the correct option in answer book. 

1.  

(i)  Asexual reproductive structures in Hydra are -       [1] 

 (A) Bud    (B) Conidia 

 (C) Zoospores    (D) Gemmules 
 

(ii) Not an example of sexually transmitted disease is -      [1] 

 (A) Gonorrhea    (B) Syphilis 

 (C) Chlamydiasis   (D) Cancer 
 

(iii) The genetic code that codes for Methionine is -       [1] 

 (A) UUU    (B) AUG 

 (C) ACG    (D) AAA 
 

(iv) Example of lymphoid organ is - 

 (A) Thymus   (B) Liver (C) Pancreas   (D) Stomach   [1] 
 

(v) Microbe that is used as biofertilizer.        [1] 

 (A) Trichoderma    (B) Penicillium notatum   

 (C) Cyanobacteria    (D) Lactobacillus 
 

(vi) An enzyme that cut DNA into fragments -       [1] 

 (A) DNA Ligase    (B) Restriction enzyme 

 (C) DNA Polymerase    (D) Proteases enzyme 
 

(vii) Which protein gene 'cry' controls the corn borer.       [1] 

 (A) I – Ac     (B) I – Ac & II – Ab  

 (C) II – Ac     (D) I – Ab   

 

(viii) Example of In-situ conservation of biodiversity is -      [1] 

 (A) Wildlife sanctuaries    (B) Zoological park 

 (C) Botanical garden    (D) Wildlife safari park 
 

 (ix) Main example of greenhouse gas is        [1] 

 (A) Nitrogen     (B) Carbon monoxide 

 (C) Methane     (D) Oxygen 
 

2. Fill in the blanks : 
 

(i)  Male honey bee are______ (Ploidy) having _______chromosomes.   [½ + ½ = 1] 
 

(ii)  Insulin used for diabetes was extracted from the______(organ) of slaughtered pigs and animals. [1] 
 

(iii)  The rate of biomass production is called _________      [1] 
 

(iv)  The world Summit on Sustainable Development held in 2002 in __________South Africa  [1] 
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3. Give the answer of the following questions in a word or a line.     
 

(i) Define external fertilisation.         [1] 

  

(ii) Write full name of ZIFT.          [1] 
  

(iii) The phenotype of RRyy genotype seeded plant will be -      [1] 
 

(iv) What is Transgenic animal?         [1] 
 

(v) Write function of Adenosine deaminase.        [1] 
 

(vi)  Write name of components of nucleoside.      [½+½ =1] 
 

(vii)  Write one adaptation of seals found in polar seas.      [1] 
 

(viii)  Explain one reason of deforestation.        [1] 
 

SECTION B 

 Short answer type questions (Answer word limit 50 words) : 
 

4.  Write name and function of three parts of female reproductive system.         [½+½+½=1½] 
 

5. Write three hormones secreted by placenta             [½+½+½=1½] 
 

6. Explain 'Incomplete dominance' with example.             [1½] 
 

7. Explain Turner's syndrome with symptoms.          [1½] 
 

8. Write brain capacity and two characters of life style of Neanderthal man.        [½+1=1½] 
 

9. Explain 'Adaptive radiation' with example                      [1½] 
 

10. Define inbreeding. Write name of any one animal developed from interspecific hybridisation. 
 

11. Part - A contains the name of crop and Part - B contains their related disease resistance variety. 

 Match the following:`                     [½+½+½=1½] 
  

 PART-A  PART - B 

(A) Cowpea (i)  Pusa Sadabahar 

(B) Cauliflower  (ii)  PusaKomal 

(C) Chilli'  (iii)  Pusa Shubhra 

 

12. Write the name of the microorganism commonly called brewer's yeast. Write one use of it. 

           [1+½ =1½] 

13. Write full name of BOD. What is the relation of polluting potential and BOD of waste water. 

            [1+½ =1½] 

14. Draw a labelled diagram of sparged stirred-tank bioreactor.      [1½ ] 

 

15. Explain anyone feature of cloning vector.           [1½] 
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SECTION C 

 Long answer type questions (Answer word limit 100 words)    

16. Write the name of the pathogen of amoebiasis. Write two symptoms and two source of infection. 

            [1+1+1=3] 

 

17. What are the stenothermal organism? Draw a diagrammatic representation of organismic response.

           [1+2=3] 

 

18. Define ecological succession. Explain Hydrarch succession and Xerarch succession in brief.  

           [1+2=3] 

SECTION D 

 Essay type questions (Answer word limit 100 words) : 

19.  

(i)  Define pollination. 

(ii)  Explain double fertilisation. 

(iii)  Draw a labelled diagram of structure of fertilised embryo sac.       [1+1½  +1½ = 4] 

OR 

(i)  Define Xenogamy pollination. 

(ii)  Write one example of each non-albuminous, albuminous, perispermic seed. 

(iii)  Draw a labelled diagram of L.S. of pistil showing path of pollen tube growth.         [1+1½ +1½ = 4] 

 

20.  

(i)  Define translation. 

(ii)  Explain process of translation. 

(iii)  Draw a labelled diagram of translation.          [1+ 1½+1½ = 4] 

OR 

(i)  Name the disease that results from point mutation.        [1+ 1½+1½2 = 4] 

(ii)  Explain the Lac operon. 

(iii)  Draw a labelled diagram of the Lac operon.  
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